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Directions (10-15) : Select the 'Directions (18-22) : Find the
one which ta different foom the missing term of the series from the
other thres reaponses. given responses.
10. (1) Mile {2) Centimetre 18, BAT, EAT, HAT, ?
‘ ml n iw-f:.:!; ; Ed]‘“tﬂ,g (8)Litre (4 Yard (1CAT  (2)FAT
ure from the giver aematives, L 1° (D High-up (3)RAT  (4)KAT

1. Editor : Magazine (2] Past-Present 19.5, 11, 17,25, 33, 43,2
(1) Movie : Seene (3) Often-Seldom (153 2} 56
(2) Musie : Actor [4) Freah-Stale (3) 49 (4] 51
(3) Drama : Director 12. (1) 11-127  (2) 985 20. Question Pigures
(4) Drawirlg : Artist (3) 753 (4) 529 —_

2. Hindulsm, Christianity, ls- 13 (1)262 124X 9
lam : Religion 322V (41205 m 1L
(1) Ear, Kose, Vi 14.(1)8,64,512

sion Eyesight (2) 36, 6, 206 Answer Figures
(2) Plus, Minus, Multiple : [3) 48, 4, 202
Division . (4)9, 27,263 b
{3) Winter, Spring, Summer: 18,
gid 1 4] (3 (4]
. ° alH +] fant + o] o
B 4 ] 3 4%11 1. GRstions Figeess
8. WOLF ; FLOW : :WARD : ? X BRI AN o P

(1) BROW  (2)DRAW
NCRAW  (4)SLAW
4. ORAIN : TIZRM : : BRAIN : ?
(1) XRIKL  (2) YIZRM
(3) OPRST - (4] ASQMI
B. CUT : BDTVSU : : TIP: 7
(1 lﬁ"l'l.lﬂﬂ,_-lﬂl SUHJOQ
(A USJHQO (4) SUJHOQ

819:59::17:7
(1) 51 {2)53
{3) 55 (457
7.14:20::16:7
(123 (2)48
(3) 10 (4 32
8. 100: 10%: : 100000 : 7
(1) 10° (2) 104
(3) 1008 (4) 1004
¥ Guastion Figures :

.‘*;.ﬂ.:;ﬁ;?
Answer Pigures

Y 1AY 124 1>

i 2 (£ (]

moom m

16. A serles of figures is given
which can be grouped into
classes, Select the group Into
which the figures can'be clas-
sifted froon the given respons-

(11,57 2,4.9; 3.6.8

(211,5.7: 2.8.9; 5,4.6
(3)1,7.8 2,49 3,586
(41,4,8 5892387

17. Arrange the following words
tn & logical order :
‘(a)Leaf  (b)Stem
(c)Root  (d) Flower
{lldcaeb {2)abecd
(Mebad (@bade

T
o

J131931 3

in i Mm 14

23, AC, FH, ™M
()1 (2)4
(31K [4)L

23. If the first four letters of the
word ‘INCONSISTENT" are
written in reverse order fol-
lowed by next four written in
reverse order and so on,
which letter is the Sth in the
written order?

T [N
@)s (1

24: Which one set of Jetters when
sequentially placed at the
gaps in'the given letter series
shall complete it?
aac—bba-cc—baa-cb-
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(1)CGKOS  (2) DHLPT
(3)EJNGS (4] BFINR

28. The number of letters skipped

in between adjacent’ letters
in the series is increased by

one each time. Which of the

following series observes the
rule?

(1)ADHMS  {2) HKOSV

31 GJINSX [4) FLQUX

In the given figure. the set of
alphabets in the middle of all
base lines 1s i

(1) EMU (2) AEMU-
[BAEMUY  [4) KLMNG

28.If "+ stands [or division, "

standa for addition, — stands
for multiplication and *+
stands for suberaction; then
which of the following equa-
tions is correct?
[1)36-8+3x5+3=T74
(2)3BxB+T+2-6=20
(AIG+B~-Fx5+3=24
438 +8+3x5-3=45

20. The symbols for addition (+],

subtraction (=), multhplica-
thon (=) and division () will
have to be inserted in the
Bt squares tn order to get

v.3 as shown in tlllc
'L‘"LLE.UI'...‘IH r}

20 5[ s [jslj 1723
Find out w!'l:k:h set hplnw is
correct.

(N-++x
[B)=x—++

(2) 4 -+
(4] 4 + x —

-Directions (31-33) ; Some que-
glons are solved on the basis of &
certain aystem. On the ‘same ba-
sla, find out the correct answer
from amongst the four alterna-
tives for the unsolved aguation in
each question. )

31.f9-8=63, 8- 7 =48,
T-82=05thenb6-5=7

(1) 11 (2) 30
(31 o 4124
32.fP2,3.5 =
Pll.4.3) =3414
P2, 1, 2) = 2121
thenPF( 2.0, 1) =7
(11002 (2) 1220
{3) 1020 [4) 1200

83. 1Bl =32 x56= 1159
AEx23x 11 =259
themd42 x 1B x 63 =17
{1)50a (2) 956 -
{3) 549 (4) 659
4. Insert the missing pumber

3 .
4 ] i

(1) 94 (2} 86
e [4) 78

38. Fing the missing number in
the matrix ;

aliw | w
6 -2 G -
24181

121 | 225 | 100D

(1o (213
(3) 10 s
Directions (38-37) : One/Two
Statement(s) is/are given followed
by two Conclusions, I and I, You
have to consider the statement(s)
to be true, even if it/they seemis)
to be at varlance from commonly
known facts. You dre to declde
which of the given conclusions can

7. Statement :

2006(Second Shift) £ Josh

(1) bache {Elalﬂac ﬂ.lﬂtJ:l,Ksﬂ_,L:.ﬁ_Mn?, dﬂﬁ]jjj:i}rbgdmwnrmthem
{3} cabch {4) beach N=11,0=13,P=17.Find statement(s). Indicgle vour an-

in between adjacent lettérs relatiod given : *30. Statement : , Thetbest-evic

in the serles decreases by one ox[I] +P=43 dmﬂcuflnm.a.s;glaﬂwuspaﬁ
cach tigne, Which of the fol- ML o) M iz the glmmgm]arl

lowing serles ohaerves the BIN Ayurvedic medicines in the
rule? - (HE West.

Conclusions ; [} Avurvedic

medicines are ot popularin

India.

() Allopathic medicines are
not popular in India

{1) Only canclusion 1 follows

{2) Omly Conchasion I follows

{3} Both Conelusions 1 and 11
Jollow

{4} Nedther Conclussar 1 nor
IT fallows

(a} All stu-

dents like excursions.

(b) Sormme students ke 1abo-

ratory experiments.

Conchusions : {I), Students

whe like laboratory gxperi-

ments also like CACLINSions.

(I Some studenis do net like
laboratory experiments
bt like excursions.

(1) Omly Conclusjon | follows

[2) Cnly Conclusion If fpliows

{3} Both Conclusigna | and 1T

follow _

(4} Nedther Congusion 1 nor

IT follows

38. Sand is called Black, Black

is called Sk, S'l_.'}" is called
Red, Red is called Sea. Where
are stars seen then?

[1) Sand 2] e

[3) Black (4] E

. What do you conalijde from

the follownig two stateo-
L. Hybrid plants are resis-

tant to flungus.

IL. Fungal infection ‘reduces
the'Afe of planks,

(1] Far a ].I:Ip.gllift-ﬁpﬂq Erow
hybrid plants-

(2) Fungus attacks hybrid
plants

[3) Yield is more in hyhrid
plants,

(4) Alt-plants aré hybrid
plants
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40, If LEMON i written as OWVN-
LM, howr can MELON be writ-
ten in the same way?

{1} NVOML (2 LMNCV
[3) MVOLM  (4) NVLOM

41. If D becomes H, E becomes J
and O becomes N, what wdll
K become in English alpha-

bet?
o v
3y M Z

42, 1If CALM is written as XZ0N,
then JACKAL may bewritten
as
{1} FEXPFZM (2} QEXPZED
(3] FXZOZP (&) ZQPOEX

43, In a certain code language
REFORM is coded as 426349
and FORMULA is coded as
634987 1. How 13 AMUL cod-
ed in that langusge?

(1) 1847 - [2) 1887
[3) 1784 [4) 1478

. HTA=Y=1.B=5=2,N=F
=3, 0=E=4,Rai=5, the
sum of Wwhich set of letters
below makes an odd number?
[1) BANANA
[2) ORANGE
[3) GRAFPES
[4] PAPAYA

48 fB=8 L=7.0=5C=9K
= 4, using the given total,
find oait the missing symbol
in the following block :

|B[D|'?|B|E-i=33

(LB (2L
(3K #)C

46. In the following series of nu-
merals, which digit has max-
imum fregquency?
S46TI4ITEIANE2161748
mns 216
514 [4)3

47, How many even riumbsers are
there in the following se-
guence of numbers which are
immediately followed by an
wdd number as well as imme;
diately préceded by an even

number?
BATREOATTRILIIARGIRE] 19
(1) Ome (2) Three
(3] Four (4} Five

48. Ji1 has more money than
Mant but less than Babu. If
the amounts held by Jill,
Mami and Babhu are x, y and
2, respectively, which of the
following ia true?
(Mzzsx<y [2x<z<y
My<x<z [Mlrcy<:z

49, All of us, plus half of us and
guarter of us and you alone
taken together equal T1. How

many are we really?
(1) 70 (2) 60
(3) 50 14} 40

BO. If the day after tomorrow 12
Friday, what day will third
day afiter the tomorrow be?
(1) Saturday  [2) Monday
(%) Sunday  [4) Friday

Bl. Specily the choice which

gives the number that would-
replace the question mark :
7

27"

{1) 108 (2] 10564

(3 11584 (4} 1654

B2. If the ratic of the arcas of two
gquares 1s 16 : 1, then the
ratio of their perimeters is
(1}4:1 [2pie: 1
31:3 (413:4

B3. The shade of 18 ft high pole
1= 20 ft. Find out the length
‘of shade of 27 it long pole
(1] 36 ft {2300
(3] 34 it (4} 401t

B4, A father was baelve times as
old as his son twenty years
back. Mow he {5 twice as old
as his son. What are their
present ages?

(1) Father 44 and son 22
(2] Father 5% and son 33
13] Father 86 and son 34
(4} Mone of these T

B8, What {g the difference be-
tween the biggest and the
smallest fractions in the fol-

lowing?
2453
368 4
1
(1) ']15 [2) 0
1 !
3} 0 (4] B

56. Average of two numbers 1s
8.5 and square root of their
product is & What are the
numbers?

Mlland2 (2j8and5
A 10and 3 {49 and 4

B7. 50% of students in a school
are boys. The number of girls
in the school 1s 300 then the
number of boys s
(1) 500 [2) 300
{3] 454 {4 750

BA. Of four numbers whose av-

1
erage is B0, the first is5 th

4
of the sum of last three, The
first number is
(1) 15 () A%
(342 [y 48

50, Secta and Geeta have two
glasses of equal volumes.
Both have same milk in thelr
glasses. Secta says o Geela,
“Give me half the milk in
your glass so that oy glass
will be full of milk™. Gecta
says to Seeta, “Instead you
give me one-fourth of the
milk in your glass so that my
plass will be full of milk". Find
the ratio of volumes of milk
in their glasses.

(1)2:4 (2)8:6
31a:3 (412 :3

80. Rema and Molly sing Karnat-
iz and Hindustani music.
Molly and Padma sing Hin-
dustani and light music.
Padmma and Kamala stng light
music and semi-classical
music, Rema and Kamala
sing semi-classical and Kar-
natie musie.

Who sings hght music, semi-
classical and Kamatic mu-
s

(1) Rema {2) Padma

(3} Molly (4} Kamala

61. A scores more runs than B
but less than €. D scores
more than B but less (han
A. Who ia the lowest scorer?
(1ra (2) B
[3c (4} O

@2. Harsh- sits on the right of
Satish. Satish sits between




SSC Combined Matric Level (Pre) Exam General Intelligence Solved Question Paper —

2006(Second Shift)

JAGRAN

£ Josh

Manish and Girlsh. Who sits
farthest to the rght?

(1) Satish  (2) Girish
(3)Harish  (4) Manish
83, R and 5 are brothers, X is the

slater of ¥ and X is the moth-
er of R. What is Y to 52
(1) Uncle () Brother
{3) Father [4) Mother
84.A starts walking from a
point P, A goes westward and
covers a distance ol 4 km and
then tums to his rght and
walls 3 km. How far A 1s from
the starting point?
(1) ¥ km [2) 9 km
{3) 2 km [4) 5 kem
85, A man starts his journey fac-
ing the sun early morming,
He then turns right and

walks 2 km. He then walks 3

ki after turning right again.
Which is the direction he 1s
facing now?
(1) Morth-East.
(2) Nerth
(3) West (4] South

86. Raju starts from a place A
towards South and reaches
second place D. From there
he takes turmn towards N-W
and reaches point E. From
there he takes tum towards
N-E and reaches place F.
From there he takes turn to-
wards 5-E and reaches place
G. From there he takes turn
towards South and repches
place H. Which of the follow-
ing figures indicates his path
of journey comrectiy? :

MZREGILS

] (] (EF 4

67, The following are English al-
phabet letters tumed in the
same plane, Which one is an
exception?

H1AE] 4

(1) {2 . -

88. In the alphabets from A to Z,
which is the third letter to
the right of the letter which

15 in midway between K and
57

R 29

(3P 4o

689. From the given alternative
words, select the word which
cannot be formed using the
letters of the given word :
CONTINENT
(1) CONTENT (2) INTENT
{3) CONVENT (4} TENT

70. From the given alternatives,
select the one which can be
formed wsing the letters of
the given word :
URBANIZATION
(1) NATURAL (2] RATIONAL
{3 BAND  (4) TURBAN

71. The following become mean-
ingful words i two letters in-
terchange their places :

(A) LETRET (B) MIDELD
CIVISNGL (D) PERDOT
The lettera to be interchanged
anc

(1) firstand last

(2] third and fourth

{3) fourth and sixih

(4) second and fifth

72. Find out three lelters to be
filled in three blank spaces
which make meaninglul
words when prefived and suf-
fixed letters are added up :

R
BR~

FR
T

LouG ZIEAC
@3 IME 4RAC
T8. The correct spelling is fiven.
The four alternatives have
sofe mistakes such as
(a}letter omitted
(b) unwanted letter added
[e) sequence  of letters
changed
(d) letter omitted and anoth-
- er letter added as a sub-
stitute
Find the alternative which
contains maximum number
of mistakes :

SCAVENCER
(1) SAVEGNER
(2) SAVENGER
(3) CAVANGURE
{4] CAVENGER

T4, If you arrange the letters giv-

en below properly, it will give
a meaningful waord. Find out

that word :
TAOBIROPN

(1) PROMOTION
(2] PROMINENT
(¥ PROBATION
(4] PROFOLUND

T6. Two words are given. Using

the letters contained in thess
two words, which one of the
following words can be
formned?

{A] LEADER (B) CLIMB
(1) MINUTE (2) BLEAK
(3) DEBATE 14) MIRACLE

76. Which one of the following

responses will fill the blanks
to make & meanjngful word?
—E S ——
[IRET
BPTE

[AITER
GFST

77 What is the total ramber of

triangles in the figure ghven
below?

(1) 18
{3) 40

12) 32
4] 12

‘78. Which of the answer figure:

13 exactly the mirror image
of the given Nigure, when the
mirror is held at AB?

Question Figure :

A
JALKI
B

LAIK]

IKLAJ | IALAL | IHJAL |

(0 @2 m )

T8.Chogse the correct mirror

of the figure, when the
mulrror Is held at AB ;
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mm: 83, Among the four answer fig-
A ures, which one can be
A formed from the cutout piec-
_ B fiven below?
Answer Figures : uﬂnnﬂ;nn_::
AL A A 59
| D a
{1y (3 {3 (43 Answer Figures :
0. Choose the correct water f-
age of the question fgure out Y
of four answer figures given : %mﬂ%
Question Figure ; Mo m . m @
B4 ich answer figure the
ap Hwﬁ of the
— Tuestion re are found?
Angwer Figures : juestion Figure : "
XEX 28X |xx xéx '.;fnzﬂl
[ F ]| {3} 4] mr&nu:
81. Study the following diagram -
conatsting of & circle, a rect-
g ofasire st (DRIDKIOKRD
nd :
oyt e quetion given be- @ @ W
88. Which one of the gnswer fig-
ures shall complete the given
question figure?
i Figure :
2
N B
3 ¥ '
I i - @J( ) Answer Flgorey ;-
Whieh of the following mam- 3 E 2 S
bers I8 common in-all the e
three diagrams? - ] (E] "
(1) io (3} 13 8. In the following question,
3 i85 whiely of the alternatives (1),
{4) Nene ﬂfﬂm (2). (@) apd (4) will exactly
83. Which one of the fallowing make up the key fgure given
diagrams represénts water, m the question?
salt and suges? Quegtian Figure :
fEnestion Figure :
@ (@ @) ',
Answer Figures : Answey Figures ;
= T o
o |l
@] o |e» © el
{1} (i3] 3y . W i i (1] 4

[

87. There 1s a'dat placed in the
Question figure. Find out the
unswer figure which has the
posaibility of placing the dot
satisfying the same condi-
Hons as in the gquestlon fig-
ure, '

m:ﬂpu:

&

Answer Figures :

ey

[ f2 {41

88. In this test the problem fig-
ure is of a wooden block,
Think of the position which
you will get when you place
the block with Its front side
at the bottom,

Gmestion Figure !

LY
eSS

(i} (2] {3} 41

80. In a cube using given arrang:
ment, which part be apposite
Fruit?

Seed
Plower

§lem
Pruin Bud ]
Leal

(1) Stem: (2) Sead
[3) Flower  (4) Bud
90. The question Ngure Is folded
to form a Wox. Choose from
the answer fgures the box
that is similar to the box
formed

gluﬂun]‘um




SSC Combined Matric Level (Pre) Exam General Intelligence Solved Question Paper —

2006(Second Shift) f-) Jos SSSSSS
Answer. Figures : gunestion Figure : 99, Given below are-Jetters A o
) a " o Z. Under each capilal leiter
. a small letter is Jritten
@ @ @ S i which 1% to be used as'a code
5 . for the capial lelier -
i 12 {3 i Answer Figures :

B1. Four positions of a dice are

EBEE

Identify the number at the
bottom when Lop la 8.
(13 21
(214 45
g2. Which colour is opposite to
- Purple?

% Koy it I
SLE

&
rellan |,

i 3] i3 XL

(1) Blue 2] Crange
(A Red = {4) Green

83, The fgure ghan below has a
fitting complement figure in
the fous, alternatives. that
makes it a perfecl suqare.
Ahich gne 1s ith,

%

Hive Ked

n (2r th - (% _

Directiona (84 -88) : From
the given answer figures, aclect the
one ine which the question figure
Eahid.dm.-f&mbnddd

o4, ﬂnuﬂmlﬂlmt

=
il I
I._'J

T ERIEHIEE

ilf (2 i [41

D&

11} {2 13 (4}

P8, What figure will ‘be formed
when a tranap:mrnt sheet

with the glven N is fokd -
ed on the dotted Unc?
Guestion Figure :

_ T 1.

Lhh {1). (3t 14}
“@F, A plece of paper 1% folded and
panched as shown below.

From the given responsacs in-
dicaté how it will appear

when apened -
@uéstion Figase 5

M &
Answer Figurss

in (2} 3 R

88, Which of the followin col-
umng arc eonnacted fTe
with each gther i some way?

e |y
13 |25 |16
6 1408
1 1535 | 20
16| 21'k40°) 28
1| 27163 | 36

aim|E

o |l | LA | b | i e

(1) Columns 1, HI and V
£2) Columms 1, 11 and TV
tﬂ}c-uhmmul! M and V
mcmmmrﬂmmm

IIGDW!FEHIJHLH

Iﬁpnaanuhlld|
MOPORETUVWYYZ
kafl rwygoghmzut

In ne i'd'mwlng guestion a
group of five -:-a.pitnl leticrs is
given and 168 code bghuvalent
ts given in one of the columns
(1. (2], (3)and [4]. Study the
group of ledbers givern o ques-
tion and-with the belp of ooxde
diven above, choose the code
exquivalént from amongst {1).
-§2). () 'or (4] as your answer -
BROLY
(1) swegr, nfzgx, rwgcs. vim-
. GoEsw, [nnow .
(Z) arweg, pabit, kvama, kdjeh.
suoEy, Tikeoh
(3] yremm, pmxad, tigpb.
yrkam. dhuel, uvyxz
(4] scgwr, gmyad, yrweg, gm
npl. awkyn, bipgl
100. Given below there is a name
of town with date which has
betn reproduced against (1),
(2); (3} or (4). Of them, three
have gome mistakes or the
other while one is EXACTLY
the same as given below. You
are to chodise the one as your
answer which is EXACTLY
the same reproduction of the
glven one :
Chandigarh
28 September 2001
{1) Chandigarh
2ELs September 286l
[2) Chandigrh
a2t September 2001
lﬂ}'l:hanl;_llglﬁh
26 September 200)

{4) Chandigarh’
28 September m:rm

JAGRAN
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Answer: General
Intelligence
1| (3) 27 | (4) 51 (3) 76 (1)
2] (3) 27 | (4) 52 (1) 77 (1)
31 (2) 28 | (1) 53 (2) 78 (4)
41 (2) 29 | (4) 54 (1) 79 (3)
51 (2) 30 | (4) 55 (4) 80 (4)
6| (2) 31| (4) 56 (4) 81 (4)
71 (1) 32| (3) 57 (3) 82 (2)
8| (1) 33| (2) 58 (4) 83 (2)
9| (3) 34 | (2) 59 (4) 84 | (3)
10| (3) 35| (2) 60 (4) 85 (4)
11| (1) 36 | (4) 61 (2) 86 (3)
12| (1) 37 | (3) 62 (3) 87 (4)
13| (4) 38 | (4) 63 (1) 88 (3)
14| (1) 39| (1) 64 (4) 89 (2)
15| (3) 40 | (3) 65 (3) 90 (4)
16 | (1) 41 | (2) 66 (3) 91 (2)
17 | (3) 42 | (2) 67 (3) 92 (2)
18 | (4) 43 | (2) 68 (1) 93 (3)
19| (1) 44 | (1) 69 (3) 94 | (4)
20| (2) 45 | (3) 70 (4) 95 (4)
21| (2) 46 | (3) 71 (3) 96 (4)
22| (3) 47 | (3) 72 (2) 97 (1)
23 | (1) 48 | (3) 73 (1) 98 (1)
24| (3) 49 | (4) 74 (3) 99 (2)
25| (3) 50| (3) 75 (4) 100 | (3)




